DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 5)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

391) 336.28 + 7 =

) 49830 = (—10) =
193 3643.2 + (—9) =
391 —63.66 + (—2) =
W) —397.5+ 5 =

16 —1303.2 + (—8) =
17 62433 + (—=7) =
38) —116.73 +9 =
199 —T7970 + (—=5H) =
00) 3119.6 + (—4) =
w1 —782.46 +9 =
0 972.2 + (—2) =
03 —67.4+(—1) =
w0y 1177 +1 =

05 —348.1 + (=5) =

Mathematics: Division - Level 6 - Horizontal - Set 5
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15

—2740.8 + (—4)
—14382 + 9 =
209.88 + (—6) =
2022 = 6 =
—15312 %2 =
—2195.2 + 8 =
—1265.4 + 2 =
23.65 + (—1) =
15544 + (—4) =
—58163 = 7 =
1913.8 =7 =
196.26 + 3 =
—9254 = 1 =
—2439 + (—5) =

108.1 + (—10) =
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